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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 

MODEL EXAM II – GENERAL STUDIES AND PYSCHOLOGY 

 
1. The Scientist who experimentally proved the existence of position is 

a. Fermi  b. Anderson  c. Bohr  d. Bethe 
ghrpl;uhdpd; ,Ug;gij Nrhjid%yk; ep&gpj;j mwptpaywpQh;  
a./ngh;kp  b. Mz;lh;rd;  c.Nghh;   d.ngj;Nj 

 
2. In SI systems of units, the unit of solid angle 

a. Radian  b. Steradian  c. Degree  d. Celsius 
SI myF Kiwapy;> jpz;kf; Nfhsj;jpd; myF 
a. Nubad;    b.];bNubad;    c. bfphp    d. nry;rpa]; 

 
3. Value of Astronomical unit 

a. 9.467 × 1011m     b. 9.467 × 1011km   
c. 1.496 × 1011km     d. 1.496 × 1011km 
xU thdpay; myF vd;gJ 
a. 9.467 × 1011m     b. 9.467 × 1011km   
c. 1.496 × 1011km     d. 1.496 × 1011km 

 

4. What is the audible range of sound for human ear? 
a. 20-20,000 Hz b. > 20,000 Hz  c. > 20 x 104 Hz d. < 20 Hz 
kdpjdpd; fhJfshy; czug;gLk; xypapd; mjph;ntz;zpd; kjpg;G vd;d?  
a. 20-20,000 Hz b. > 20,000 Hz  c. > 20 x 104 Hz d. < 20 Hz 

 

5. According to Modern Atomic Theory which of the following statement is wrong? 
a. Atom is the smallest particle that takes part in a reaction 
b. Atoms are indivisible 
c. Atoms of the same element may not be similar in all their properties 
d. Atoms of different elements may be similar in some of their properties 
etPd mZf; nfhs;ifiag; nghWj;jtiu gpd;tUk; vf;$w;W jtwhdJ? 
a. mZ vd;gJ Ntjptpidapy; <LgLk; kpfr;rpwpa Jfs; 
b. mZf;fs; gpsf;f ,ayhjit 
c. xU jdpkj;jpd; midj;J mZf;fSk; midj;Jg; gz;GfspYk; xj;jpUf;f 

Ntz;bjpy;iy. 
d. ntt;NtW jdpkq;fspd; mZf;fs; rpy gz;Gfspy; xj;jpUf;Fk; 

 

6. Which is a Lewis base 
a. B2 H6  b. NH3  c. LiAIH4  d. AIH3 
gpd;tUdtw;wpy; vJ Y}ap]; fhuk;?  
a. B2 H6  b. NH3  c. LiAIH4  d. AIH3 
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7. What hormoners help for formation of parthenocarpic fruits? 
a. Auxins b. Abscisic Acid  c. Gibberellins  d. a and c   
ghh;j;jpNdh fhh;gpf; fdpfs; cUthf;fj;jpw;F ve;j `hh;Nkhd;fs; cjTfpwJ?  
a. Mf;rpd;fs;  b. Mg;rprpf; mkpyk; c. [pg;uypd;fs;   d. a kw;Wk; c   

 
8. Which of the following statements about bases is/are true? 

I. Base is a substance which releases hydroxide ions when dissolved in water 
II. They change blue litmus to red 
III. Zinc reacts with sodium hydroxide to form Sodium Zineate with the 

liberation of hydrogen gas 
IV. They are colourless with phenolphthalein and pink with methyl orange. 
A. I and III  B. II only  C. III and IV D. IV and II 
fhuq;fs; gw;wpa fPo;f;fz;l $w;Wfspy; vJ / vit rhp? 
I. fhuq;fs; ePhpy; fiue;J i`l;uhf;irL madpfisj; jUk; Nrh;kq;fs; 

fhuq;fs; vdg;gLfpd;wd 
II. ,it ePy ypl;k]; jhisr; rptg;ghf khw;Wfpd;wd 
III. Jj;jehfk;> Nrhbak; i`l;uhf;irLld; tpidGhpe;J i`l;u[d; thAit 

ntspapl;L Nrhbak; [pq;Nfl;ilj; jUfpwJ 
IV. ,it gpdhg;jypDld; epwkw;wjhfTk; nkj;jpy; MuQ;Rld; ,sQ;rptg;G 

epwj;ijAk; jUfpd;wd 
A. I kw;Wk; III  B. II kl;Lk;  C. III kw;Wk; IV  D. IV kw;Wk; II 

 
9. An oxidising agent is a. 

a. An electron acceptor 
b. An electron donor  
c. In a chemical reaction its oxidation number increases  
d. It releases H2 in a chemical reaction  
Mf;]p[Ndw;wp vd;gJ 
a. vyf;l;uhid Vw;Wf;nfhs;Sk;  
b. vyf;l;uhid jUk;  
c. Ntjptpidapy; mjDila Mf;]p[Ndw;w vz; mjpfhpf;Fk;  
d. tpidapy; H2-ia ntspapLk; 

 

10. Which of the following is the ore Titanium? 
a. Rutile   b. Hausmannite  c. Wolframite  d. Scheelite 
fPo;f;fz;ltw;Ws; vJ ill;Nldpaj;jpd; jhJ?  
a. &l;ily;  b. `h];kd;idl;  c. cy;/g;uikl;  d. rPiyl 

 

11. The nitrogen compound used as a rocket fuel is 
a. Hydrazine  b. Hydra zone  c. carbazone d. Ammonia 
,uhf;nfl; vhpnghUshfg; gad;gLk; iel;u[d; Nrh;kk; 
a. i`l;urPd;   b. i`l;uNrhd; c. fhh;gNrhd;  d. mk;Nkhdpah 

 

12. Which of the following is called as Carborundum? 
a. Boron Carbide   b. Tungsten Carbide 
c. Silicon Carbide   d. Aluminium Carbide  
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gpd;tUtdtw;Ws; vJ fhh;Nghuz;lk; vd miof;fg;gLfpwJ? 
a. Nghuhd; fhh;igL   b. lq;];ld; fhh;igL  
c. rpypf;fd; fhh;igL   d. mYkpdpak; fhh;igL 

 
13. Who is the Father of Taxonomy? 

a. Hippocrates     b. Carous Linnaeus 
c. Gregor Johan Mendal    d. Aristotle 
tifg;ghl;baypd; je;ij vd;W miof;fg;gLgth; ahh;? 
a. `pg;Nghfpnul;l];      b. fNuhy]; ypd;Nda];  
c. fpufh; N[h`hd; nkz;ly;    d. mhp];lhl;by; 

 
14. Where does oxidative phosphorylation take place? 

a. Chloroplast    b. Mitochondrion 
c. Ribosome    d. Lysosome 
Mf;]p[Ndw;w gh];Ngl; Nrh;g;G vq;F NehpLfpwJ? 
a. gRq;fdpfk;    b. ikl;Nlh fhz;l;hpad; 
c. iuNghNrhk;    d. iyNrhNrhk; 

 
15. Consider the following Endocrine glands: 

1. Islets of Langerhans   - Produce Insulin 
2. Thyroid gland   - Produce diabetes 
3. Adrenal gland   - Produce Goitre 
Which of the following is correctly matched? 
a. 1 only  b. 1 and 2 only  c. 2 and 3 only  d. 1, 2 and 3 
fPo;nfhLf;fg;gl;Ls;s ehskpy;yh Rug;gpfspy; vJ rhpahf nghUe;Jk;: 
1. Inyl;]; Mg; Nyq;fh;fhd; - ,d;Rypid nfhLf;Fk;  
2. ijuha;L Rug;gp    - rh;f;fiu tpahjpia nfhLf;Fk;  
3. mlhpdy; Rug;gp    - Kd; fOj;J fyioia nfhLf;Fk;  
a. 1 kl;Lk;  b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; d. 1> 2 kw;Wk; 3 

 

16. The Process of transfer of genetic information from DNA to RNA is 
a. Translocation    b. Transversion 
c. Transcription    d. Translation 
kugpd jfty;fis DNA tpypUe;J RNA tpw;F khw;Wk; nray;.  
a. l;uhd;];nyhNf~d;   b. l;uhd;];nth;~d; 
c. l;uhd;];fphpg;~d;    d. l;uhd;];Ny~d;  

 

17. In human, which types of cells are affected by Malarial parasite? 
a. Liver cell and RBC   b. RBC and WBC 
c. RBC and Th cells    d. RBC and Epithelial cells 
kdpjdpy;> kNyhpah xl;Lz;zpapdhy; ve;j tif nry;fs; ghjpf;fg;gLfpwJ? 
a. fy;yPuy; nry; kw;Wk; ,uj;j rptg;G mZf;fs;  
b. ,uj;j rptg;G mZf;fs; kw;Wk; ,uj;j nts;isaZf;fs; 
c. ,uj;j rptg;G mZf;fs; kw;Wk; TH nry;fs;  
d. ,uuj;j rptg;G mZf;fs; kw;Wk; vgpnlh;kp]; nry;fs;  
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18. Robert Gallo discovered HIV which causes AIDS in year 
a. 1994   b. 1984  c.1988  d. 1985 
,uhgh;l; NfNyh va;l;iy cUthf;Fk; HIV ituiyf; fz;Lgpbj;j Mz;L 
a. 1994   b. 1984  c.1988  d. 1985 

 
19. Electron was discovered by 

a. Newton  b. J.J. Thomson  c. Roentgen d. Chadwick  
vnyf;l;uhid fz;Lgpbj;jth; ____ Mthh;. 
a. epA+l;ld;  b. n[.n[. jhk;rd; c. uhz;l;[d; d. rhl;tpf;   

 
20. Half-life of a radioactive substance with disintegration constant λ is 

a. 0.6931/λ  b. 0.6931 × λ  c. λ /0.6931  d. λ 2/0.6931 
rpjwy; khwpyp nfhz;l xU fjph; tPr;R nghUspd; miu MAl;fhyk;  
a. 0.6931 / λ  b. 0.6931 × λ  c. λ /0.6931  d. λ2 /0.6931 

 
21. Plaster of Paris is  

a. CaSO4.H2O b. CaSO4. 
1

2
H2O  c. CaSO4.2H2O d. CaSO4. 

3

2
H2O 

ghhP]; rhe;J vd;gJ ___ MFk;. 

a. CaSO4.H2O b. CaSO4. 
1

2
H2O  c. CaSO4.2H2O d. CaSO4. 

3

2
H2O 

22. What is the capacity of Blu-Ray disc? 
a. 50 GB   b. 4.7 GB  c. 1.5 GB  d. 2 TB 
g;@-Nu rl;bs; nfhs;ssT vd;d? 
a. 50 [pfhigl; b. 4.7 [pfhigl; c. 1.5 [pfhigl; d. 2 nluhigl; 

 
23. The processes by which organisms keep their internal conditions relatively stable 

is called 
a. Metabolism  b. Homeostasis  c. Hypostasis  d. Epistasis  
tpyq;Ffspd; cs;epiyia rPuhf itj;jpUg;gjw;F _________ vd;W 
miof;fg;gLfpwJ. 
a. nkl;lhghyprk;  b. `pNkh ];lhb]p];  
c. i`g;Ngh];lhb]p]; d. vgp];lhb]p];   

 
24. In Central dogama of Molecular biology 

 

 
 
a. X – Replication, Y – Transcription, Z – Translation 
b. X - Transcription, Y – Translation, Z – Replication 
c. X -  Splicing, Y – Transcription, Z- Translation, 
d. X – Translation, Y – Replication, Z – Splicing 
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%yf;$W caphpaypd; mbg;gilf; fUj;jpy; 
 

 
 
a. X – ,ul;bg;ghjy;> Y – gbnaLj;jy;> Z – nkhopg;ngah;j;jy; 
b. X –  gbnaLj;jy;> Y – nkhopg;ngah;j;jy;> Z – ,ul;bg;ghjy; 
c. X – gpsj;jy;> Y – gbnaLj;jy;> Z – nkhopg;ngah;j;jy; 
d. X – nkhopg;ngah;j;jy;> Y – ,ul;bg;ghjy;> Z – gpsj;jy; 

 
25. The device used to perform chain reaction of nuclear fission in a controlled 

manner is  
a. Nuclear reactor  b. Atom bomb   
c. Electric furnace   d. Chemical furnace    
mZf;fUg; gpsitapd; njhlh; tpidia fl;Lg;ghl;Lld; elj;j cjTk; rhjdk; 
_________ MFk;. 
a. mZf;fU ciy  b. mZFz;L    
c. kpd; mLg;G   d.  Ntjptpid mLg;G   

 
26. The carbon filament is invented by  

a. Ampere   b. Newton   c. Edison  d. Volt  
fhh;gd; kpd;dpio fz;Lgpbj;jth;  
a. Mk;gpah;   b. epA+l;ld;  c. vbrd;   d. Nthy;l;  

 
27. The Refrigerator and ice plant working under the principle of  

a. First Law of Thermodynamics b. Second Law of Thermodynamics 
c. Third Law of Thermodynamics d. Zeroth Law of Thermodynamics 
Fsph; rhjdg;ngl;b kw;Wk; gdpf;fl;b njhopyfj;jpy; nray;gLk;  jj;JtkhdJ  
a. ntg;g ,af;ftpaypd; Kjy; tpjp  b. ntg;g ,af;ftpaypd; ,uz;lhk; tpjp  
c. ntg;g ,af;ftpaypd; %d;whk; tpjp d. ntg;g ,af;ftpaypd; G+[;a tpjp  

 
28. It is difficult to walk on ice bar because 

a. Pressure is high    b. Friction is high  
c. Pressure is low                             d. Friction is low    
I]; fl;bapd; kPJ elg;gJ rpukkhf ,Uf;Fk; Vnddpy;  
a. mOj;jk; mjpfkhf ,Uf;Fk;  b. cuha;T mjpfkhf ,Uf;Fk;  
c. mOj;jk; Fiwthf ,Uf;Fk;  d. cuha;T Fiwthf ,Uf;Fk; 

 
29. The chain reaction in an atom bomb is 

a. Controlled nuclear fission   b. Uncontrolled nuclear fission 
c. Controlled nuclear fusion   d. Uncontrolled nuclear fusion 
mZFz;by; Vw;gLk; njhlh;tpid  
a. fl;Lg;ghl;bYs;s mZf;fUg; gpsT  b. fl;Lg;ghlw;w mZf;fUg; gpsT   
c. fl;Lghl;bYs;s  mZf;fU ,izT d. fl;Lg;ghlw;w mZf;fU ,izT  
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30. Which of the following is called “Storage tanks” of the cell? 
a. Vacuoles  b. Golgi body c. Ribosomes  d. Peroxisomes  
gpd;tUtdtw;Ws; vJ nry;ypd; “Nrkpg;Gf; fplq;F” vd;W miof;fg;gLfpwJ? 
a. Ez;Fkpo;fs; b. Nfhy;if cWg;G c. hpNghNrhk;fs; d. nguhf;rpNrhk;fs; 

 
31. Choose the correct statements 

I. National Anthem was written by Rabindranath Tagore in Bengali 
II. National Pledge was written by Venkata Subba Rao in English 
III. First Indian National Flag was woven at Gudiyatham in Vellore district of 

Tamilnadu 
IV. On 27th December 1911 the National Song was sung for the first time in 

Calcutta INC session 
a. I, II, IV only  b. II, III, IV only  c. I, III only  d. All of these  
rhpahd $w;Wfisj; Njh;e;njL.  
I. Njrpa fPjk; utPe;jpuehj; jh$uhy; tq;fhs nkhopapy; vOjg;gl;lJ. 
II. 'Njrpa cWjpnkhopia ntq;fl Rg;ghuht; vd;gth; Mq;fpyj;jpy; vOjpdhh;.  
III. tpLjiy ,e;jpahtpd; Kjy; Njrpaf; nfhb jkpo;ehl;bYs;s NtY}h; 

khtl;lj;jpd; Fbahj;jk; vd;Dk; gFjpapy; nea;ag;gl;lJ.  
IV. Njrpag;ghly; Kjd; Kjyhf 1911> brk;gh; 27-k; Mz;by; nfhy;fj;jhtpy; 

eilngw;w ,e;jpa Njrpa fhq;fpu]; khehl;by; ghlg;gl;lJ.  
a. I, II, IV kl;Lk; b. II, III, IV kl;Lk;  c. I, III kl;Lk; d. ,it midj;Jk;  

 

32. Match the following 
A. National Coast Guard Day   1. January 15 
B. National Army Day    2. October 8 
C. Air Force Day     3. February 1 
D. Navy Day      4. December 7 
E. Armed Forces Flag Day   5. December 4 
gpd;tUtdtw;iwg; nghUj;Jf:  
A. Njrpa flNyhu fhty;gil jpdk;   1. [dthp 15  
B. Njrpa uhZt jpdk;    2. mf;Nlhgh; 8 
C. tpkhdg;gil jpdk;     3. gpg;uthp 1 
D. flw;gil jpdk;     4. brk;gh; 7 
E. MAjg;gil nfhb ehs;    5. brk;gh; 4 
 A B C D E 
a. 1 2 3 4 5  
b.  3 1 2 5 4  
c. 2 3 5 4 2  
d. 1 2 4 3 5 

 

33. Match the following 
A. Theyyam  1. Punjab 
B. Bhangra  2. Gujarat 
C. Garbha  3. Kerala 
D. Bihu   4. Assam 
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nghUj;Jf:  
A. nja;ak;   1. gQ;rhg;  
B. gq;f;uh  2. F[uhj;  
C. fhh;gh  3. Nfush  
D. gp P̀   4. mrhk;  
 A B C D 
a. 3 2 1 4  
b. 3 1 2 4  
c. 2 3 1 4  
d. 3 1 4 2  

 
34. Choose the incorrectly matched pairs 

a. First women recipient of the Jnapith Award – Ashapurna Devi 
b. First Booker Prize- PH Newby 
c. Asian Nobel Prize – Magsaysay Award 
d. UNICEF – Kalinga Award 
jtwhd ,iziaj; Njh;e;njL:  
a. QhdgPltpUJngw;w Kjy; ngz;kzp  - M~hG+h;zh Njtp  
b. Kjy; Gf;fh; ghpR     - epA+gp 
c. Mrpahtpd; Nehgy; ghpR    - kfNrNr tpUJ  
d. A+dpnr/g;  (UNICEF)     - fypq;fh tpUJ  
 

35. Who received the Man Booker Prize for the book, “The God of Small Things”? 
a. V.S. Naipaul  b. Aravind Adiga   
c. Kiran Desai   d. Arundhati Roy   
The God of small Things vd;w ehtYf;fhf Nkd; Gf;fh; ghpR ngw;wth;? 
a. V.S. ieghy;   b. mutpe;j; mbfh    
c. fpuz; Njrha;  d. mUe;jjp uha;    

 
36. Match the following 

A. First Woman Barrister    1. Cornelia Sorabjee 
B. First Woman Airline Pilot   2. Durga Banerjee 
C. First Woman Olympic medal winner 3. Karnam Malleswari 
D. First Woman Doctor    4. Kadambini Ganguly 
nghUj;Jf 
A. Kjy; ngz; ghhp];lh;    1. fhh;dpypah nrhuhg;[p 
B. Kjy; ngz; tpkhd Xl;b (Ailines)  2. Jh;fh Ngdh;[p 
C. xypk;gpf; gjf;fk; ntd;w Kjy; ngz; 3. fh;dk; ky;Ny];thp 
D. Kjy; ngz; kUj;Jth;    4. fhjk;gpdp fq;Fyp 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
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37. Choose the incorrectly matched pair 
a. The Largest lake in India – Wular Lake 
b. The Largest saline water lake in India – Chilka Lake 
c. The Largest artificial Lake in India – Govind Sagar 
d. The highest lake in India – Wular Lake 
jtwhfg; nghUe;jpa ,iziaj; Njh;e;njL:  
a. ,e;jpahtpd; kpfg; nghpa Vhp  - cyhh; Vhp  
b. ,e;jpahtpd; kpfg;nghpa cg;G ePh; Vhp - rpypfh Vhp  
c. ,e;jpahtpd; kpfg;nghpa nraw;if VHp - Nfhtpe;j; rhfh;  
d. ,e;jpahtpd; kpf caukhd Vhp - cyhh; Vhp  

 
38. Which of the following state is not sharing its boundary with Pakistan? 

a. Jammu and Kashmir  b. Himachal Pradesh   
c. Punjab    d. Gujarat     
gpd;tUtdtw;Ws; ve;j khepyk; jdJ vy;iyia ghfp];jhDld; gfputpy;iy?  
a. [k;K kw;Wk; fh~;kPh;   b. ,khr;ryg;gpuNjrk;  
c. gQ;rhg;    d. F[uhj;  

 
39. Which of the following state is known as Egg bowl of Asia? 

a. Uttarpradesh b. Madhyapradesh c. Andhrapradesh d. Tamilnadu 
gpd;tUtdtw;Ws; ve;j khepyk; Mrpahtpd; Kl;ilf; fpz;zk; vd;W 
miof;fg;gLfpd;wJ?  
a. cj;jug;gpuNjrk; b. kj;jpag;gpuNjrk;  c. Me;jpug;gpuNjrk; d. jkpo;ehL 
     

40. Choose the correctly matched pair/s 
I. McMohan Line - India and China 
II. Radcliff Line   - India and Pakistan 
III. Durand Line  - India and Afghanistan 
a. I, II only  b. I, III only   c. II, III only d. All of these  
rhpahfg; nghUe;jpa ,iziaj; Njh;e;njL:  
I. nkf;Nkhfd; NfhL   - ,e;jpah kw;Wk; rPdh  
II. Nul;f;spg; NfhL   - ,e;jpah kw;Wk; ghfp];jhd;  
III. Jue;j; NfhL    - ,e;jpah kw;wk; Mg;fhdp];jhd;  
a. I, II kl;Lk; b. I, II kl;Lk;  c. II, III kl;Lk; d. Nkw;$wpa midj;Jk;   

 
41. Who is the foreign Prime minister who was honoured with the Padma Vibhushan 

Award? 
a. Scott Morrison  b. Shinzo Abe  
c. Justin Trudeau  d. Mahinda Rajapaksa  
gj;k tpG+~d; tpUJ toq;fp nfsutpf;fg;gl;l ntspehl;Lg; gpujkh; 
a. ];fhl; khhprd;  b. ~pd;N[h mNg   
c. [];bd; J&Nlh  d. kfpe;jh ,uh[gf;Nr  
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42. Identify the correct statements regarding ‘Makkalai Thedi Maruthuvam’ 
1. It is a doorstep medical care programme to treate people with communicable 

and non-communicable diseases 
2. It offers home based dialysis units to people with chronic renal failure 
a. 1 only  b. 2 only  c. both 1 and 2  d. neither 1 nor 2   
kf;fisj;Njb kUj;Jtk; jpl;lk; Fwpj;j rhpahd $w;Wfisf; fz;lwpf 
1. ,J njhw;W Neha;fs; kw;Wk; njhw;wh Neha;fshy; ghjpf;fg;gl;l kf;fSf;F 

tPLfSf;Nf nrd;W rpfpr;ir mspf;Fk; jpl;lkhFk;. 
2. rpWePuf nraypog;ghy; ghjpf;fg;gl;lth;fSf;F tPl;bNyNa lahyprp]; nra;Ak; 

rhjdq;fs; ,j;jpl;lj;jpd;fPo; toq;fg;gLfpwJ. 
a. 1 kl;Lk; b. 2 kl;Lk;  c. ,uz;Lk;  d. ,uz;Lky;y   

 
43. Who has been appointed as the chairman of National Commission for Minorities? 

a. Iqbal Singh Lalpura  b. Syed Shahezadi  
c. Ghayorul Hasan   d. John Barla    
Njrpa rpWghd;ikapdh; Mizaj;jpd; jiytuhf epakpf;fg;gl;lth; 
a. ,f;ghy; rpq; yhy;Guh  b. iraj; ~`rhjp   
c. fhNahUy; `hrd;   d. [hd; ghh;yh   

 
44. Which country has become the fourth new member of BRICS New Development 

Bank? 
a. Bangladesh   b. UAE c. Uruguay  d. Egypt    
gphpf;]; Gjpa tsh;r;rp tq;fpapy; gphpf;]; ehLfs; my;yhky; ehd;fhtjhf 
,ize;Js;s ehL 
a. tq;fNjrk;  b. UAE c. cUFNt  d. vfpg;J   

 

45. Who is the first Indian to win Miss Trans Global? 
a. Waaz Joshi  b. Sruthy Sithar c. Gauri Sawant d. Kalki Subramaniam  
cyf %d;whk; ghypd mofp gl;lk; ntd;w Kjy; ,e;jpah; ahh;? 
a. th]; N[h~p b. ];Ujp rpj;jhuh  c. nfshp rthe;j; d. fy;fp Rg;gpukzpak; 

 

46. Who among the following is the first citizen of a city in India? 
a. Mayor  b. Chairman c. Sheriff  d. MLA 
,e;jpa mstpy; fPo;fz;lth;fspy; khefuhl;rpapd; Kjy; Fbkfd; vd;gth; ahh;? 
a. khefuhl;rp kd;w jiyth;  b. jiyth; 
c. Ch;j;jiyth;    d. rl;lkd;w cWg;gpdh; 

 

47. Which of the following committee is associated with central vigilance commission 
a. Sarkaria committee    b. Mandal committee 
c. K. Santhanam committee   d. S.K Dhar committee 
kj;jpa fz;fhzpg;G Mizak; fPo;f;fz;l FOtpy; vjDld; njhlh;GilaJ 
a.rh;f;fhhpa FO        b. kz;ly; FO  
c. K. re;jhdk; FO      d. S.K jhh; FO 

 

48. The Anti-defection law was introduced by the _______ Amendment Act 
a. 42nd amendment act  b. 52nd amendment act 
c. 62nd amendment act  d. 72nd amendment act 
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fl;rpj;jhty; jil rl;lk; _____ rl;lj;jpUj;jj;jpdhy; Vw;gl;lJ 
a. 42tJ jpUj;jr;rl;lk;  b. 52tJ jpUj;jr;rl;lk; 
c. 62tJ jpUj;jr;rl;lk;  d. 72tJ jpUj;jr;rl;lk; 

 
49. Which committee was appointed in 1986 to deal with ‘Revitalisation of Panchayat 

Raj institutions for democracy and development? 
a. Ashok Mehta Committee  b. G.V.K. Rao Committee 
c. L.M. Singhvi Committee  d. Santhanam Committee 
1986-k; Mz;by;> “kf;fshl;rp kw;Wk; Nkk;ghl;bw;fhf gQ;rhaj;J epWtdq;fis 
Gj;Japh;gpf;f” mikf;fg;gl;l FO vJ? 
a. mN~hf; Nkj;jh FO   b. [p.tp.Nf. uht; FO 
c. vy;.vk;. rpq;tp FO    d. re;jhdk; FO 

 
50. In which year the Legislative Council of Tamil Nadu was abolished? 

jkpo;ehl;by; Nkyit ve;j Mz;by; fiyf;fg;gl;lJ? 
a. 1985  b. 1986  c. 1987  d. 1988 

 
51. The first District which established Panchayat Raj in Rajasthan was 

a. Kota  b. Jhalawar  c. Madhopur d. Nagaur  
uh[];jhdpy; gQ;rhaj;J uh[; epwtpa Kjy; khtl;lk; 
a. Nfhlh b. [yhthh;  c. kNjhG+h;  d. ehfth;  

 
52. Match the institutions with the Articles of the Indian Constitution: 

A. Comptroller and Auditor General of India 1. Art. 315 
B. Finance commission     2. Art. 280 
C. Administrative Tribunals    3. Art. 148 
D. Union Public Service Commission   4. Art. 323 (A) 
,e;jpa murpayikg;G rl;lj;jpd; tpjpfis mjd; epWtdq;fSld; nghUj;Jf. 
A.,e;jpa muR fzf;Fj; jzpf;ifj; jiyth;   1. Art. 315 
B. epjp Mizak;      2. Art. 280 
C. eph;thf jPh;g;ghak;      3. Art. 148 
D. kj;jpa muRg; gzpahsh; Njh;thizak;   4. Art. 323 (A) 
 A B  C  D 
a 3 4 2 1 
b 1 2 4 3 
c 3 2 4 1 
d 1 4 2 3  

 
53. Match List I with List II : 

a. Right to equality      1. Articles 25-28 
b. Right to Freedom      2. Articles 14-18 
c. Right to constitutional remedies   3. Articles 19-22 
d. Right to freedom of religion    4. Article 32 
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gl;bay; I I II cld; nghUj;Jf 
a. rkj;Jt chpik      1. tpjpfs; 25 Kjy; 28 tiu 
b. Rje;jpu chpik      2. tpjpfs; 14 Kjy; 18 tiu 
c. murpayikg;gpw;Fl;gl;L jPh;T fhZk; chpik 3. tpjpfs; 19 Kjy; 22 tiu 
d. rka Rje;jpu chpik     4. tpjp 32 
 a b c d 
A. 2 3 4 1 
B. 1 4 3 2 
C. 3 2 1 4 
D. 4 1 2 3 

 
54. Which of the following articles of the constitution deals with amendment 

procedures to the Constitution of India? 
a. Article 350  b. Article 256  c. Article 143  d. Article 368 
,e;jpa murpayikg;gpy; jpUj;jk; nfhz;Ltu ve;j tpjp gad;gLj;jg;gLfpwJ? 
a. tpjp 350  b. tpjp 256   c. tpjp 143   d. tpjp 368 

 
55. The doctrine “Basic Features” of Indian constitution was propounded in the 

judgement of  
a. Krishna Swami V. Union of India, 1992 
b. Kesavananda Bharati V. Union of India, 1973 
c. S.R. Bommai V. Union of India, 1994 
d. Kuldip Nayar V. Union of India, 2006 
,e;jpa murpayikg;Gr; rhrdj;jpd; “mbg;gilf; $Wfs;” vDk; Nfhl;ghL ve;j 
tof;fpd; jPh;g;gpy; cUthf;fg;gl;lJ?  
a. fpU~;zRthkp V. ,e;jpa xd;wpak;> 1992  
b. Nfrthde;j ghujp V. ,e;jpa xd;wpak;> 1973 
c. v];.Mh;. nghk;ik V. ,e;jpa xd;wpak;. 1994 
d. Fy;jPg; ehah; V. ,e;jpa xd;wpak;> 2006 

 
56. “The Kisan Credit Card” scheme (KCC) was introduced in 

a. 1996 – 1997  b. 1998 – 1999 c. 1999 – 2000 d. 2000 – 2001  
“cotd; fld; ml;il” (fp~hd; fpnubl; fhh;l;) Vw;gLj;jpa Mz;L 
a. 1996 – 1997  b. 1998 – 1999 c. 1999 – 2000 d. 2000 – 2001   

 

57. Who is the chairman of NITI Aayog? 
a. V.K. Saraswat b. Narendra Modi  c. Arvind Panagariya  d. Biben Debroy 
epjp MNahf;fpd; jiyth; ahh;? 
a. V.K. ru];tj;    b. eNue;jpu Nkhb 
c. mh;tpe;j; gdfhhpah   d. gpNgf; nlg;uha; 

 

58. Which one of the following is the source of direct tax? 
a. gift tax  b. customs duty  c. excise duty  d. service tax 
fPNO nfhLf;fg;gl;Ls;s ,dq;fspy; vJ Neh;Kf thpir rhh;e;jJ?  
a. md;gspg;G thp  b. Rq;f thp  c. cw;gj;jp thp  d. Nrit thp  
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59. Inflation adversely affects 
a. Profit earners    b. Fixed income earners 
c. Speculators     d. Investor 
gztPf;fj;jhy; vjph;kiwahf ghjpf;f $bath;fs;  
a. yhgk; <l;LNthh;    b. epiyahd tUtha; <l;LNthh;  
c. Cf thzpgj;jpy; <LgLNthh;  d. KjyPl;lhsh;  

 
60. Choose the correct statements: 

i. Imperial Bank of India was established in 1921.  
ii. It was changed into State Bank of India in 1949. 
iii. Reserve Bank of India was established in 1935.  
a. i, ii, iii  b. i, ii  c. i, iii   d. ii, iii   
rupahd $w;wpidj; Nju;e;njL. 
i. 1921-,y; ,e;jpa ,k;gPupay; tq;fp epWtg;gl;lJ. 
ii. ,J 1949-,y; ,e;jpa ];Nll; tq;fpahf khw;wg;gl;lJ. 
iii. ,e;jpa upru;t; tq;fp 1935-,y; Vw;gLj;jg;gl;lJ. 
a. i, ii, iii  b. i, ii  c. i, iii   d. ii, iii  

 
61. According to the 2011 census, which of the following states has the highest 

decadal population growth rate? 
a. Maharashtra   b. Uttar Pradesh   c. Bihar  d. Punjab     
2011 kf;fs;njhif fzf;nfLg;gpd;gb gpd;tUk; khepyq;fSs; vJ gj;jhz;L 
kf;fs;njhif tsh;r;rp mjpfk; cs;s khepykhFk;? 
a. kfhuh~;buh   b. cj;jpugpuNjrk;  c. gPfhh;  d. gQ;rhg; 
   

62. Which country was the first explorer from Europe to India? 
a. Holland  b. France  c. England  d. Portuguese 
ve;j INuhg;gpa ehL ,e;jpahtpw;F Kjd;Kjypy; fly; topiaf; fz;L gpbj;jJ? 
a. `hye;J   b. gpuhd;R   c. ,q;fpyhe;J  d. Nghh;r;Rfy; 

 
63. Where did Gandhiji hoist the flag of India on the midnight of 31.12.1929 following 

the declaration of ‘Poorna Swaraj” and setting 26.1.1930 as the day of 
independence?  
a. Kolkata   b. Lahore  c. Madurai   d. Mumbai  
26.1.1930 I ‘g+h;z Rtuh[;’ mwptpg;ig xl;b> ,e;jpa Rje;jpu ehshf mwptpj;J 
fhe;jp[p 31.12.1929–d; es;sputpy; ,e;jpaf; nfhbia ve;j Chpy; Vw;wpdhh;? 
a. nfhy;fj;jh    b. yh$h;   c. kJiu   d. Kk;ig 

 
64. Match the following :  

Organisations     Years 
A. British India Association  1. 1883 
B. India League    2. 1876 
C. Indian Association   3. 1875 
D. National Conference   4. 1843 
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rhpahf nghUj;Jf. 
    rq;fq;fs;       tUlk; 
A. gphpl;b~; ,e;jpar; rq;fk;   1. 1883 
B. ,e;jpa yPf;      2. 1876 
C. ,e;jpar; rq;fk;    3. 1875 
D. Njrpa khehL     4. 1843 

A B C D 
a. 1 2 3 4 
b. 4 3 2 1  
c. 2 1 4 3 
d. 1 3 4 2 

 
65. Arrange the following freedom struggle incidents in chronological order: 

I. Lucknow Pact     II. Surat Split  
III. The Lahore Congress Session  IV. Swarajya Party 
a. I,II,III,IV  b. II,I,IV,III  c. IV, III,II,I  d. III,IV,I,II 
tpLjiy Nghuhl;l epfo;r;rpfis fhy thpirg;gLj;Jf.  
I. yf;Ndh xg;ge;jk;     II. #uj; gpsT  
III. yh$h; fhq;fpu]; khehL    IV. Rauh[;[pa fl;rp  
a. I,II,III,IV  b. II,I,IV,III  c. IV, III,II,I  d. III,IV,I,II 

 
66. ‘Al-Hilal’ a weekly was published by whom? 

a. Syed Ali Khan     b. Ghulam Nabi Azad  
c. Nazir Ghulam Yaseen   d. Abul Kalama Azad  
‘my;-`pyhy;’ vd;Dk; thug;gj;jphpf;ifia ntspapl;lth; ahh;? 
a. iraj; mypfhd;    b. Fyhk; egp M]hj; 
c. e]Ph; Fyhk; ahrpd;   d. mGy; fyhk; M]hj; 

 
67. Match the following: 

A. Jallianwala Bagh Massacre  1. 1922 February 5 
B. Chauri Chaura incident  2. 1919 April 13 
C. Swaraj Party    3. 1930 March 12 
D. Dandi March    4. 1923 January 1 
fPo;f;fz;ltw;iw nghUj;Jf. 
A. [hypad; thyhghf; gLnfhiy    1. 1922 gpg;uthp 5  
B. nrshp nrsuh epfo;r;rp     2. 1919 Vg;uy; 13 
C. Rauh[;[paf; fl;rp     3. 1930 khh;r; 12 
D. jz;bahj;jpiu       4. 1923 [dthp 1 

A B C D 
a.  3 1 2 4 
b.  4 3 1 2 
c.  1 2 3 4 
d.  2 1 4 3 

 



 

14 | Page 

 

68. Match the following connected with the year of Acts 
A. Introduction of communal representation 1. 1935 
B. Right of discussing Budget    2. 1919 
C. Separation of Burma     3. 1909 
D. August Declaration     4. 1892 
gpd;tUk; Mz;L rl;lq;fisAk;> njhlh;Gs;s epfo;TfisAk; ,izf;f. 
A.  tFg;Gthp gpujpepj;Jtk; mwpKfk;   1. 1935 
B. epjpepiy mwpf;ifia tpthjpf;f chpik  2. 1919 
C. gh;kh gphpf;fg;gLjy;     3. 1909 
D. Mf];L mwpf;if      4. 1892 

A B C D 
a.  3 1 4 2 
b.  3 4 1 2 
c.  2 1 4 3 
d.  4 2 3 1 

 
69. Consider the following statements about the Rashtrakuta dynasty and find out 

which of the following statements are correct.  
1. It was founded by Dantidurga.  
2. Amogavarsha wrote Kavirajmarga.  
3. Krishna I built the Kailasanatha temple at Ellora.  
a. 1only   b. 2 and 3    c.1 and 3   d. all the three  
uh~;bu$l tk;rk; Fwpj;j fPo;f;fhZk; $w;Wfisr; rpe;jpj;J mtw;wpy; vit rhpahd 
$w;nwd;W fz;lwpaTk;.  
1. ,t;tk;rj;ij epWtpath; je;jpJh;fh  
2. mNkhfth;~h; ftpuh[khh;f;fj;ij vOjpdhh;  
3. Kjyhk; fpU~;zh; vy;Nyhuhtpy; ifyhrehjh; Nfhtpiyf; fl;bdhh;.  
a. 1 kl;Lk; rhp  b. 2, 3 rhp   c. 1, 3 rhp  d. %d;Wk; rhp  
 

70. Who wrote Prithivirajraso?  
a. Kalhana   b. Vishakadatta   c. Rajasekara  d. Chand Bardai  

  'gpUjptpuh[ uhNrh' vDk; E}iy vOjpath; ahh;?  
a. fy;`zh;  b. tprhfjj;jh;  c. uh[Nrfuh; d. re;j; ghh;ij  

 
71. Who was the last ruler Vijayalaya line of Chola dyanasty?  

a. VeeraRajendra    b. Rajadhiraja  
c. AthiRajendra    d. Rajaraja II 
tp[ahyad; top te;j Nrho tk;rj;jpd; filrp murh; ahh;?  
a. tPu uhN[e;jpud;    b. uh[hjpuh[h  
c. mjp uhN[e;jpud;   d. ,uz;lhk; uh[hjpuh[h  

 
72. Among the following which planet takes maximum time for one revolution 

around the sun? 
a. Mars  b. Jupiter  c. Saturn  d. Uranus 
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gpd;tUk; Nfhs;fspy; #hpaid Rw;wp tu ePz;l fhyk; vLj;Jf; nfhs;Sk; Nfhs; 
vJ? 
a. nrt;tha; b. tpahod;  c. rdp  d. ANud]; 

 
73. Which is the highest Plateau of the world? 

a. Tibet   b. Colorado  c. Deccan  d. East African 
cyfpNyNa kpf caukhd gPl G+kp vJ? 
a. jpngj; b. nfhyuhNlh  c. jf;fhz  d. fpof;F Mg;gphpf;fh 

 
74. Highest peak in South Indian Peninsula 

a. Palaghat pass  b.The Anaimudi  c. Doddabetta d. Karle 
njd;dpe;jpa jPgfw;gj;jpd; kpf cah;e;j kiyr; rpfuk; vd;gjhFk;. 
a. ghyf;fhl;L fdtha b. MidKb  c. njhl;l ngl;lh d. fhh;Ny 

 
75. Indo-Pakistan water treaty was signed to share the river water of 

a. Ganga River   b. Indus River 
c. Brahmaputra River  d. Yamuna River 
ve;j Mw;wpd; ePh;gfph;tpw;fhf> ',e;jpa – ghfp];jhd; ePh; xg;ge;jk;' Vw;gl;lJ? 
a. fq;if MW    b. rpe;J MW  
c. gpuk;kGj;jpuh MW   d. aKdh MW  

 
76. Which of the following hills connect eastern and western Ghats? 

a. Aravalli  b. Vindhya  c. Nilgiri   d. Satpura 
gpd;tUtdtw;Ws; fpof;F kw;Wk; Nkw;F kiyj; njhlh;r;rpfis ,izf;Fk; ,lk; 
vJ? 
a. Muty;yp    b. tpe;jpa kiy  c. ePyfphp    d. rhj;g+uh 

 
77. Consider the following statement 

1. Project Tiger is a Tiger conservation scheme 
2. It was launched on 1 April 1983 
3. 27 Tiger Reserves have been setup in 17 states under this scheme 
Which of the statements given above is/are correct? 
a. 1 only  b. 1 and 3  c. 1, 2 and 3  d. 2 and 3 
gpd;tUk; $w;Wfis Ma;f 
1. g;uh[f;l; ilfh; vd;gJ Gypfs; ghJfhg;gpw;fhf Vw;gLj;jg;gl;l jpl;lkhFk;.  
2. ,j;jpl;lk; Vg;uy; 1> 1983 y; Vw;gLj;jg;gl;lJ 
3. ,j;jpl;lj;jpdhy; 27 Gypfs; ghJfhg;gfk; 17 khepyq;fspy; Vw;gLj;jg;gl;Ls;sJ.  
Nkw;Fwpg;gplg;gl;Ls;stw;Ws; vJ / vit rhpahdit?  
a. 1 kl;Lk; b. 1 kw;Wk; 3 c. 1, 2 kw;Wk; 3 d. 2 kw;Wk; 3 

 
78. Consider the following statements 

I. Baripada: A hamlet that Conserves Forest, promotes growth. 
II. Baripada: Located in Maharashtra – Gujarat border. 
a. I is true but II is false    b. I and II is true 
c. I is false but II is true    d. I and II are false 
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gpd;tUk; $w;Wfis Ma;f 
I. ghhpglh: fhLfisg; ghJfhj;J tsg;gLj;Jk; xU Ff;fpuhkk; 
II. ghhpglh: k`huh~;buh – F[uhj; vy;iyapy; mike;Js;sJ 
a. I vd;gJ rhp> Mdhy; II jtW   b. I kw;Wk; II rhpahdit 
c. I vd;gJ jtW> Mdhy; II vd;gJ rhp d. I kw;Wk; II jtwhdit 

 
79. Arrange the following harbours in the East Coast from North to South order 

I. Paradwip  II. Visakhapatnam III. Kolkatta IV Haldia 
a. IV, III, II, I b. I, II, III, IV only c. III, IV, I, II d. IV, III, I II  
fpof;Ff; flw;fiuapy; fhzg;gLk; gpd;tUk; JiwKfq;fs; tlf;fpy; ,Ue;J 
njw;fhf thpirg;gLj;jTk;.  
I. ghujPg;  II. tprhfg;gl;bdk;  III. nfhy;fj;jh  IV. `hy;bah  
a. IV, III, II, I b. I, II, III, IV only c. III, IV, I, II d. IV, III, I II  

 
80. From the given list of tribes identify which is the largest tribal group found in 

India 
a. Gonds  b. Santhals  c. Nagas  d. Todas 
nfhLf;fg;gl;Ls;s goq;Fbapdh; gl;bapaypypUe;J ,e;jpahtpy; mjpf mstpy; 
fhzg;gLk; goq;Fbapdk; vJntd fz;lwpf. 
a. Nfhz;lh;fs; b. rhe;js;fs; c. ehfh;fs;  d. Njhlh;fs; 

 
81. gpd;tUk; rpyg;gjpfhu ciuahrphpah;fs; gw;wpa Fwpg;Gfis Ma;T nra;J 

nghUj;jkhd tpiliaj; Njh;e;njLf;f.  
I. rpyg;gjpfhuj;jpw;F ciunaOjpa gioa ciuahrphpah;fs; mUk;gj 

ciufhuh; kw;Wk; mbahh;f;F ey;yhh; Mth;. 
II. mUk;gjq;fSf;F kl;Lk; ciunaOjpa mUk;gjfhuh; ciu E}y; 

KOikf;Fk; cs;sJ 
III. tpsf;fkhf ciunaOjpa mbahh;f;F ey;yhh; ciu E}y; KOikf;Fk; 

fpilf;ftpy;iy 
a. I kl;Lk; rhp   b. II kw;Wk; III rhp 
c. midj;Jk; rhp  d. midj;Jk; jtW  

 
82. nrhy;y te;j nghUs; ntspg;glhJ kiwthf ,Uf;f mjid czh;j;j NtnwhU 

nghUs; ntspg;gilahf epw;FkhW mikf;Fk; ,yf;fpa cj;jp  
a. ,iwr;rp b. cs;Siw ctik c. cUtfk;  d. ,it vJTkpy;iy 

 
83. tp[auq;f nrhf;fehj ehaf;fh; Ml;rpapy; fzf;fuhfg; gzpGhpe;jth; ahh;? 

a. ghujpahh; b. jhAkhdth; c. FkuFUguh; d. gps;isg; ngUkhs; Iaq;fhh;  
 

84. nghUswpe;J nghUj;Jf: 
A. tJit    1. efk;  
B. Fotp    2. Foe;ij 
C. cfph;    3. jpUkzk;  
D. cOit    4. Mz;Gyp 

 
A B C D 
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a. 3 4 1 2 
b. 3 2 1 4  
c. 2 1 4 3  
d. 4 3 2 1  

 
85. $w;Wfis Muha;f. 

I. jpUts;Sth; fp.K. 31-y; Njhd;wpatnud;W fUjp jpUts;Stuhz;L Kiw 
fzf;fplg;gLfpwJ 

II. ,th; fp.gp. ,uz;lhk; E}w;whz;ilr; Nrh;e;jth; vd;w fUj;Jk; gutyhf cs;sJ 
,tw;Ws; rhpahdf; $w;iwf; Njh;e;njLf;f.  
a. I kl;Lk; rhp  b. II kl;Lk; rhp  c. ,uz;Lk; rhp  d. ,uz;Lk; jtW  

 
86. ehptpUj;jk; vd;w E}iy vOjpath; ahh;? 

a. Njhyhnkhopj; Njth;  b. jpUj;jf;fj;Njth; 
c. ngUkhs; ehadhh;   d. tPukhKdpth;  
 

87. gpd;tUtdtw;Ws; ckWg;Gyth; vOjpa vz;gJ ghf;fisf; nfhz;l E}y;  
a. KJnkhop khiy   b. KFe;jkhiy 
c. jpUth&h; ehd;kzpkhiy d. vJTkpy;iy  

 
88. gpd;tUk; $w;Wfis Muha;f.  

I. jkpopd; Kjy; fhg;gpa E}y; rpyg;gjpfhuk; MFk;  
II. FwtQ;rp vd;gJ 96 tif rpw;wpyf;fpaq;fSs; xd;W.  
III. ehkf;fy; nt. ,uhkypq;fdhUf;F eLtzuR gj;ktpG+~d; tpUJ mspj;J 

rpwg;gpj;Js;sJ 
IV. [p.A. Nghg; mth;fSf;F jkpo; kPJ gw;W cz;lhtjw;Ff; fhuzkhf ,Ue;j 

E}y;fSs; Fwpg;gplj;jf;fJ GwehD}W MFk;  
,tw;Ws;  
a. I, II, III kl;Lk; rhp   b. II, III kl;Lk; jtW  
c. I, II IV kl;Lk; rhp   d. I, III, IV kl;Lk; rhp  
 

89. nghUj;Jf: 
A. fk;guhkhazk;   1. Fhij 
B. rpyg;gjpfhuk;   2. glyk;  
C. rPtf rpe;jhkzp  3. Jhopir 
D. fypq;fj;Jg;guzp  4. ,yk;gfk;  
 A B C D 
a. 1 2 3 4  
b. 2 1 4 3   
c. 2 1 3 4  
d. 1 2 4 3 

 
 
 

90. rpyg;gjpfhu epfo;TfisAk;> mit ,lk;ngw;Ws;s fhz;lj;ijAk; nghUj;Jf: 
A. Nfhtyd;> khjtpapd; fhjy; tho;T    1. kJiuf;fhz;lk; 
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B. fz;zfpf;F Nfhapy;fl;ba nrq;Fl;Ltdpd; tPuk;  2. tQ;rpf;fhz;lk;  
C. fztid ,oe;j fz;zfpapd; mtyk;  3. Gfhh;f;fhz;lk;  
 A B C 
a. 1 2 3  
b. 2 1 3  
c. 3 1 2  
d. 3 2 1 

 

91. Select the correct question tag. 
I haven’t answered your question? ____________. 
a. Had I?  b. Haven’t it?  c. Have I?  d. Has I? 

 

92. Rewrite the sentence in the other speech : Mother asked me how I had written the 
test 
a. Mother said to me, "How did you write the test"? 
b. Mother asked me, "How will you write the test?" 
c. Mother said to me, "How do you write the test?" 
d. Mother told me, "How had you written the test?" 

 

93. Choose the right 'preposition': 
The papers are to be prepared _________ a month. 
A. by   B. on  C. within  D. in 

 

94. Choose the sentence which is in Adverbs of Manner from the options given. 
a. He walked forward  b. Tomorrow will be a working day  
c. Alexander fought bravely d. I had given enough money 

 

95. Select the correct option to complete the given sentence : 
If I had worked hard I_________ 
a. Would have passed in my exam         b. Will have passed in my exam 
c. I could have passed in my exam          d. I would pass in my exam 

 

96. They came by train__________? 
a. isn't it?   b. didn’t they?  c. are they?  d. do they? 

 

97. Choose the correct question tag.  
Everyone is present in the meeting 
a. aren't they?   b. are they?  c. isn't it?                      d. is it? 

 

98. Identify the sentence which is in the superlative degree 
a. Come as soon as possible 
b. She is senior to all her colleagues  
c. Tajmahal is one of the most beautiful buildings 
d. It is indeed a major problem 

 
99. Find out the suitable prepositions to fill in the following passage. 
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Business territory was developed      (a)    response     (b)    teachers asking     (c)   
multimedia resources designed specifically     (d) classrooms.       

(a) (b) (c) (d) 
A.  in  to  the  in 
B.  in  to  for  for 
C.  for  in  to  for 
D.  to  for  in  to 

 

100. Choose the suitable Question tag from the list given below : 
Our team will win the match, ___________. 
a. will it?  b. don’t it?  c. won’t it?  d. doesn’t it? 
 

101. If 'TAMIL' is written as 'WZPHO' In certain code then how 'MATHS' would be 
written in the same code? 
‘TAMIL’ vd;Dk; nrhy; 'WZPHO' vdf; FwpaPl;lhf;fk; nra;ag;gl;lhy; ‘MATHS’ 
vDk; nrhy;Yf;Fhpa FwpaPl;lhf;fk; vJ? 
a. LBSHV  b. PZWGV  c. PZHWV  d. ZWGVP 

 
102. Pointing towards a person in a photograph, Anjali said, “He is the only son of the 

father of my sister's brother." How is that person related to Anjali? 
a. Mother  b. Father   c. Maternal uncle d. Brother  
xU Gifg;glj;jpYs;s xU egiuf; fhl;b mQ;ryp> ",th; vd; rNfhjhpapd; xNu 
rNfhjudpd; je;ijapd; xNu kfd;" vd;fpwhh;. me;j egh; mQ;rypAld; vt;thW 
cwT?  
a. jha;   b. je;ij   b. jha; top khkh  d. rNfhjuh;  

 
103. What is the next logical image in the sequence? 

nfhLf;fg;gl;Ls;s ehd;F glq;fspy; ve;j glk; KjypYs;s glthpirapy; mLj;jjhf 
tuf;$baJ vJ?  
 

 
 

a.   b.    c.   d.  
 

104. Find out odd man out in the series: 
gpd;tUk; vz;fspy; jtwhd vz;izf; fhz; 
4, 5, 7, 10, 14, 18, 25, 32           

a. 18   b. 7   c. 14   d. 32 
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105. Select the one figure that will replace the question mark (?) in the following figure 
series. 
nfhLf;fg;gl;Ls;s glq;fspy; Nfs;tpf;Fwpapl;l (?) ,lj;jpy; ,lk;ngw Ntz;ba 
glj;jpid fz;lwp 

 

 
a. A  b. B  c. C  d. D 

 
106. Choose the best alternative of white: Peace :: Red: ________? 

a. Roses   b. Heart    c. Violence  d. Hatred 
kpfr; rhpahd xd;iwj; Njh;e;njLj;J nghUj;Jf: 
nts;is: mikjp : : rptg;G : _________? 
a. Nuh[h  b. ,jak;    c. td;Kiw  d. ntWg;G 

 
107. Which figure will complete the image ‘X’? 

nfhLf;fg;gl;l glk; (X) I epiwT nra;af;$ba glj;ij Njh;e;njL.  
 

 
a. 1  b. 2   c. 3   d. 4 

 
108. The sequence of folding a piece of paper and the manner in which the folded 

paper has been cut is shown in the figures. How would this paper look when 
unfolded? Choose from the option figures A, B, C and D. 
xU fhfpjj;ij kbf;Fk; thpirKiwfSk; mij ntl;Lk; KiwAk; 
nfhLf;fg;gl;Ls;sJ. me;j fhfpjj;ij tphpj;jhy; mJ vt;thW ,Uf;Fk; vd;gij 
nfhLf;fg;gl;l ehd;F glq;fspy; ,Ue;J (A, B, C, D) rhpahd xd;iw 
Njh;e;njLf;fTk;. 
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a. A   b. B   c. C   d. D 

 
109. Arrange the given words in a meaningful sequence and then choose the most 

appropriate sequence from amongst the alternatives provided below each 
question. 
1) Table  2) Tree 3) Wood   4) Seed   5) Plant 
a. 4,5,3,2,1   b. 4,5,2,3,1  c. 5,4,3,2,1   d. 3,1,4,5,2 
fPNo nfhLf;fg;gl;Ls;s thh;j;ijfis mh;j;jKs;s thpirapy; tifg;gLj;jp mjd; 
thpiria nfhLf;fg;gl;Ls;s ehd;F tpUg;gq;fspy; njhpT nra;f.  
1. Nkir   2. kuk;  3. kuf;fl;il 4. tpij 5. nrb 
a. 4,5,3,2,1   b. 4,5,2,3,1  c. 5,4,3,2,1   d. 3,1,4,5,2 
 

110. In the following questions, answers are to be based on the diagram given below, 
where the triangle represents doctors, the circle represents players and the 
rectangle represents artists. 
gpd;tUk; glj;jpy; Kf;Nfhzk; kUj;Jth;fisAk;> tl;lk; tpisahl;L tPuh;fisAk;> 
nrt;tfk; fiyQh;fisAk; Fwpf;fpwJ. 

 
Which numbered space in the diagram represents doctors who are also players 
and artists? 
ve;j vz; kUj;Jth;fs;> tpisahl;L> tPuh;fs; kw;Wk; fiyQh;fisf; Fwpf;fpwJ? 
a. 2   b. 3    c. 4    d. 5 

 
111. If the simple interest for an amount at 4% per annum for 3 years is Rs. 1,200.  Find 

the compound interest at the same rate for the same amount for 2 years. 
xU Fwpg;gpl;l njhiff;F 3 tUlj;jpy; 4% tl;b tPjj;jpy; &. 1>200 jdptl;b 
fpilf;fpwJ. mNj njhiff;F mNj tl;b tPjj;jpy; 2 tUlj;jpy; fpilf;Fk; $l;L 
tl;b ahJ? 
a. Rs. 10,116  b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816 
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112. A horse is tethered to one corner of a rectangular field of dimensions 70 m by 52 
m by a rope 28 m long for grazing. How much area is left ungrazed? 
nrt;tf tbtpyhd 70 kP × 52 kP ghpkhzk; nfhz;l fsj;jpy; xU %iyapy; xU 
Fjpiu Nka;tjw;fhf 28 kP nfhz;l fapw;wpdhy; fl;lg;gl;Ls;sJ. Fjpiu Nkahj 
fsj;jpd; gug;igf; fhz;f. 
a. 616 kP2  b. 3024 kP2  c. 3640 kP2  d. 154 kP2 

 
113. A cyclist covers a certain distance at 60 km/hr and he returns to the starting point 

at 30 km/hr. Find his average speed for the whole journey. 
xU egh; kpjptz;bapy; xU Fwpg;gpl;l J}uj;ij kzpf;F 60 fp.kP Ntfj;jpy; 
nry;fpwhh;. mth; njhlq;fpa ,lj;ij te;J mila kzpf;F 30 fp.kP Ntfj;jpy; 
kPz;Lk; gazpf;fpwhh;. mth; gazpj;j nkhj;j J}uj;jpd; ruhrhp Ntfk; vt;tsT?  
a. 45 km/hr  b. 40 km/hr c. 48 km/hr d. 50 km/hr 

 
114. What percentage of a day is 10 hours? 

xU ehspy; 10 kzp Neuk; vd;gjd; rjtPjk;. 

a. 86%   b. 43 2
3

 %  c. 41.67%  d. 40.25%  

 
115. The difference of the ages of Arulmozhi and Thamizhini is 12 years. The ratio of 

their ages is 3 : 5. The age of Thamizhini is  
mUs;nkhopf;Fk; jkpopdpf;Fk; cs;s taJ tpj;jpahrk; 12 Mz;Lfs;. mtu;fspd; 
taJ tpfpjk; 3 : 5> vdpy;  jkpopdpapd; taJ 
a. 32  b. 24   c. 28  d. 30  

 
116. In an examination, a students scores 4 marks for every correct answer and loses 1 

mark for every wrong answer. If he attempts in all 60 questions and secures 130 
marks, the number of questions he attempts correctly, is:  
xU Njh;tpy; xU khztd; xt;nthU rhpahd tpilf;Fk; 4 kjpg;ngz;fs; ngWfpwhh;. 
xt;nthU jtwhd tpilf;Fk; 1 kjpg;ngz; Fiwf;fg;gLfpwJ. 60 Nfs;tpf;F 
tpilaspg;gjd; %yk; mth; 130 kjpg;ngz;fs; ngw;whh; vdpy; mth; rhpahf 
tpilaspj;j tpdhf;fspd; vz;zpf;if?  
a. 35   b. 38   c. 40   d. 42  

 
117. A and B can do a work in 8 days, B and C in 12 days, C and A in 24 days. If A, B 

and C work together, then the number of days, they will complete the work is  
xU Ntiyia A kw;Wk; B vd;gth;fs; 8 ehl;fspYk;> B kw;Wk; C vd;gth;fs; 12 
ehl;fspYk;> C kw;Wk; A vd;gth;fs; 24 ehl;fspYk; nra;J Kbg;ghh;fs;. A, B 
kw;Wk; C MfpNahh; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; nra;J Kbg;ghh;fs;?  
a. 6   b. 7  c. 8  d. 4 

 
118. What is the missing number in the proportion? 4 : 13 :: 64 : _________ 

nfhLf;fg;gl;l tpfpjj;jpy; tpLgl;l vz; ahJ? 4 : 13 :: 64 : _________ 
a. 168   b. 198   c. 208   d. 228 
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119. The mean of 25 values was 40. But one value was written as 25 instead of 50.The 
corrected mean is 
25 kjpg;Gfspd; ruhrup 40. Mdhy; xU kjpg;G 50f;F gjpyhf 25 vd vOjg;gl;lJ. 
rup nra;ag;gl;l ruhrup fhz;f  
a. 39   b. 41   c. 40   d. 42 

 
120. The G.C.D. and L.C.M. of two numbers are 120 and 720 respectively. If one 

number is 360, the other number is  
,U vz;fspd; kP.ngh.t. 120 kw;Wk; kP.ngh.k 720. xU vz; 360 vdpy; kw;nwhU 
vz;. 
a. 240   b. 220   c. 210   d. 200 

 
121. Find the next letter in the following sequence of alphabets 

gpd;tUk; njhlhpy; mLj;JtUk; vOj;ijf; fhz;f 
M, N, O, L, R, I, V, ? 
a. A   b. E   c. F   d. H 

 
122. If x stands for ‘addition’, ÷ stands for ‘subtraction’, + stands for ‘multiplication’ 

and – stands for ‘division’, then  20 x 8 ÷ 8 – 4 + 2 = ? 
‘x’ Fwpia $l;ly; vd;Wk;, ‘÷’ Fwpia fopj;jy; vd;Wk;, ‘+‘ Fwpia ngUf;fy;; 
vd;Wk; ‘-‘ Fwpia tFj;jy; vd;Wk;; khw;wpdhy; gpd;tUk; tpdhtpd; kjpg;G vd;d? 
20 x 8 ÷ 8 – 4 + 2 = ? 
a. 80   b. 25   c. 24   d. 5 

 
123. Six students are sitting in a row. K is sitting between V and R. V is sitting next to 

M. M is sitting next to B, who is sitting on the extreme left and Q is sitting next to 
R. Who are sitting adjacent to V?                      

xU thpirapy; 6 egh;fs; mkh;e;Js;sdh;.  K vd;gth; V f;Fk; R f;Fk; ,ilay; 
cs;shh;.  V vd;gth; Mf;F mLj;J cs;shh;.  M vd;gth; ,lf;Nfhbapy; cs;s 
Bf;F mLj;J cs;shh; kw;Wk; Q vd;gth; R f;F mLj;J cs;shh; vdpy;> V f;F 
mUfpYs;s egh;fs; ahh;?  
a. R, q                  b. M,  K  c. Q,  K                  d. K, R 

 
124. A girl started walking from her house. She first walked for 3 km towards east, 

then she turned towards north and moved 4 km in that direction. How far is the 
girl away from her house? 
a. 3 km south   b. 3 km north   
c. 5 km west   d. 5 km north-east 
xU ngz; jd;Dila tPl;bypUe;J elf;fj;njhlq;fpdhh;. Kjypy; fpof;F gf;fkhf 
3 fp.kP J}uKk;> gpwF tlf;F jpirapy; jpUk;gp 4 fp.kP. me;j jpirapy; elf;fpwhh;. 
mth; jw;NghJ tPl;bypUe;J vt;tsT njhiytpy; ,Uf;fpwhh;? 
a. 3 km njw;F   b. 3 km tlf;F 
c. 5 km Nkw;F   d. 5 km tlfpof;F 
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125. BOOK = 43 and PEN = 35, COPY = ? 
BOOK vd;gJ 43  vd;Wk; PEN vd;gJ 35 vd;Wk; vOjg;gl;lhy; COPY vd;gij 
vt;thW vOJtha;? 
a. 48        b. 60  c. 59   d. 79 

 
126. Find out the wrong number in the following series.  

gpd;tUk; vz;thpirapy; jtwhd vz;iz fz;lwp:  
16, 19, 21, 30, 46, 71, 107 
A. 19   B. 20   C. 30   D. 46 

 
127. A student is ranked 13th from right to him and 8th from left to him then how many 

students are in total in number 
xU khztd; jdJ tyJ Gwj;jpypUe;J 13tJ eguhfTk; jdJ ,lJ Gwj;jpypUe;J 
8tJ eguhfTk; ,Ue;jhy; nkhj;j khzth;fs; vz;zpfif 
a. 18    b. 19   c. 20  d. 21 

 
128. Find the number of triangles in the given figure. 

gpd;tUk; glj;jpy; vj;jid Kf;Nfhzq;fs; cs;sd?  

 
a. 12   b.  18   c.  22   d.  26 

 
129. Find the missing term in the series:  

njhlhpd; tpLgl;l vz; fhz;f:  
2, 3, 5, 7, 11, ? , 17 
A. 12   B. 13    C. 14   D. 15 

 
130. What will come in the place of a question mark? 

Nfs;tpf; Fwpapl;l ,lj;jpy; tUk; vz; ahJ? 
 

 
a. 937                    b. 824                          c. 769                       d. 678 

 
Q.No (131-132)Directions: Study the following pie-chart carefully to answer the 
questions given below. 
 
Percentage of books sold by five sellers in the year 2016. 
 
Total number of books sold by sellers are 2000. 
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fPNo nfhLf;fg;gl;Ls;s Nfs;tpfSf;F gjpyspf;f gpd;tUk; tiuglj;ij ftdkhf 
gbf;fTk;.  
2016Mk; Mz;by; Ie;J tpw;gidahsh;fshy; tpw;gid nra;ag;gl;l Gj;jfq;fspd; 
rjtPjk; 

 
tpw;gidahsh;fshy; tpw;w Gj;jfq;fspd; nkhj;j vz;zpf;if 2000 
 

 
 

 
131. The average number of books sold by seller E in the years 2016 and 2017 was 360. 

By what percent is the number of books sold by seller E in 2017 less than that sold 
by the same seller in 2016. 
2016 kw;Wk; 2017Mk; Mz;Lfspy; E tpw;gidahsuhy; tpw;w Gj;jfq;fspd; ruhrhp 
vz;zpf;if 360. 2016Mk; Mz;by; mNj tpw;gidahsuhy; tpw;w Gj;jfq;fspd; 
vz;zpf;ifia tpl 2017Mk; Mz;by; tpw;w Gj;jfq;fspd; vz;zpf;if vj;jid 
rjtPjk; Fiwthf cs;sJ. 
a.50%  b.80%  c.90%  d.100% 

 
132. What is the difference between the number of books sold by seller A and C? 

A kw;Wk; C tpw;w Gj;jfq;fspd; vz;zpf;ifapd; tpj;jpahrk;? 
a.120  b.140  c. 160  d. 180 

 
Q.No (133-134 )Directions:  Study the bar chart and answer the questions. 
Sale of cellular phones 
gl;il tpsf;fg;glj;ij nfhz;L Nfs;tpfSf;F gjpyspf;fTk; 

njhiyNgrpfspd; tpw;gid 
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133. The difference in the sales of cellular phones for the years 1997 and 1999 is ? 

1997 kw;Wk; 1999Mk; Mz;Lfspy; njhiyNgrpfspd; tpw;gidapy; cs;s tpj;jpahrk; 
vd;d? 
A. 500   B. 1,000  C. 5,000   D. 18,000 

 
134. The sum of sales of cellular phones in the years 1999 and 2001 is equal to that in? 

1999 kw;Wk; 2001Mk; Mz;Lfspy; njhiyNgrpfspd; tpw;gidapd; $l;Lj;njhif 
ve;j Mz;bd; tpw;gidf;F rkk;? 
A. 1997  B. 1998  C. 2000  D. 2002 

 
Q.No (135-137 ) Directions:  
Monthly expenditure of Kumaran’s family is given below.  
 
Kumaran spends ₹6000 for Rent.  
 

 
 
Fkudpd; FLk;g khjr; nryT fPNof; nfhLf;fg;gl;Ls;sJ 
thliff;F nryT nra;j njhif ₹6000 
 

tptuq;fs; czT fy;tp thlif Nghf;Ftuj;J ,ju 
nryTfs; 

nryTfs; 50% 20% 15% 5% 10% 
 

135. Find the amount spent for education if Kumaran spends ₹6000 for Rent.  
Fkud; &.6000 j;ij thliff;Fr; nryTr; nra;jhy; mth; fy;tpf;Fr; nra;Ak; 
nryitf; fhz;f 
a. 6000                   b. 8000              c. 769                       d. 678 

 

136. What is the total salary of Kumaran?  
Fkudpd; nkhj;j khj tUkhdk; vt;tsT? 
a. 50000                 b. 70000              c. 40000                   d. 60000 
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137. How much did he spend more for food than education? 
fy;tpia tpl czTf;F vt;tsT mjpfkhfr; nryTr; nra;fpwhh;? 
a. 8000                 b. 12000              c. 16000                   d. 18000 

 
Q. NO (138-140) Directions: Study the following line graph carefully to answer the 
given questions. 
 

 
tiuglj;ij nfhz;L nfhLf;fg;gl;l Nfs;tpfSf;F gjpyspf;fTk; 

 
 

138. What is the respective ratio between the total number of projects handled by both 
companies in the years 2002 and 2003? 
2002 kw;Wk; 2003 Mz;Lfspy; ,U epWtdq;fSk; ifahz;l nkhj;j jpl;lq;fspd; 
vz;zpf;iff;F ,ilNa cs;s tpfpjk; vd;d? 
A. 4 : 5  B. 5 : 9  C. 7 : 9  D. 1 : 1 

 

139. By what percent is the number of projects handled by company B in the year 2006 
more than that handled in the year 2002 by the same company? 
2002Mk; Mz;by; ifahz;lij tpl 2005Mk; Mz;by; B epWtdk; ifahz;l 
jpl;lq;fspd; vz;zpf;if vj;jid rjtPjk; mjpfk;? 
a. 84%  b. 86%  c. 76%  d. 72% 
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140. What is the difference between the total number of projects handled by company 

A and company B in the years 2001, 2003 and 2006 taken together? 
a. 250  b. 230  c. 260  d. 240 
ifahz;l nkhj;j jpl;lq;fSf;F ,ilNa cs;s NtWghL vd;d? 
a. 25  b. 230  c. 260  d. 240 
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TNUSRB – SUB INSPECTOR RECRUITMENT TRAINING – 2022 
MODEL EXAM II – GENERAL STUDIES AND PYSCHOLOGY 

 

1 2 3 4 5 6 7 8 9 10 
B B C A B B D A A A 

11 12 13 14 15 16 17 18 19 20 
A C B B A C A B B A 

21 22 23 24 25 26 27 28 29 30 
B A B A A C B B B A 

31 32 33 34 35 36 37 38 39 40 
C B B D D A D B C A 

41 42 43 44 45 46 47 48 49 50 
B B A D B A C B C B 

51 52 53 54 55 56 57 58 59 60 
D C A D B B B A B C 

61 62 63 64 65 66 67 68 69 70 
C D B B B D D B D D 

71 72 73 74 75 76 77 78 79 80 
C D A B B C B B C A 

81 82 83 84 85 86 87 88 89 90 
C A B B C B A C B D 

91 92 93 94 95 96 97 98 99 100 
C A C C A B A C B C 

101 102 103 104 105 106 107 108 109 110 
B D C A A C D B B D 

111 112 113 114 115 116 117 118 119 120 
D B B C D B C C B A 

121 122 123 124 125 126 127 128 129 130 
B C B D C A C B B D 

131 132 133 134 135 136 137 138 139 140 
B C D A B C B D C B 

 

 
 


